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Band 1

SET ONE Reading Comprehension Passages

Directions: There are 4 reading passages in this part.
Each passage is followed by some questions. For each
question there are four suggested answers marked A), B),
€C) and D). You should choose the ONE best answer.
Then mark the corresponding letter on the Answer Sheet
with a pencil. ‘ |

Questions 1 to 5 are based on the following passage:
Passage 1

What is colour ? Why do some objects look red,
others green, others blue ?

Colour is caused by reflected 11ght rays. We seé
colour because objects reflect light. Something that is
red reflects mostly red light. It reflects a little green or .
blue light,too,but we do not see it. In the same way, a green
object reflects mostly green light. White objects reflect all -
colours of light. Black objects do not reflect any light.
- What happens to the colours of light that are not
reflected ? They are absorbed by tlie object. The
darker the colour, the less light is reflected and the
more light is absorbed. Light that is absorbed is turned




-

into heat. For this reason, dark-coloured clothes are

warier in the sunlight than lighter-coloured clothes.
Questions 6 to 10 are based on the following passage:
- Passage 2 |

City people usuaily think they are a Jot smarter
than country pe'ople.- They often laugh at simple coun-
try ways. But people do not laugh at country music.
it is one of the most popular kinds of music in the United

States today. » - R N
" Perhaps it is so popular because it is about simple
but strong human feelings and events — love, saaness,
good times, and bad times. It tells real-life stories and
sounds the way pecple really talk. As life becomes more
and more complicated, it is good to hear music about
ordinary. people, ' . ' B
Country, sometimes called coﬁntry-western comes
from two kinds of music. One is the traditional music
of the people in the Appalachian Mountains in the
- eastern United States. The other is traditional cowboey
music from the West. ‘The singers usually play gnitars,
and in the 19205 they started using electric guitars,
At first rity people said country music was low \cia_ss. .
It was popular mostly in the South. But during Worid
War I, thousands of Southermers went to the Northeast
and Midwest to work in the factories. - They tock iheir
music with them. Soldiers from the rest of the counury.
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‘went to army camps in the South. They léarned to like

country music. Slowly it became popular all over the

country. .
Today country music is popular everywhere in the
4
United States and Czmada — in small towns and in

New York City, among black and white, and among
educated and uneducated people. About 1,200 radio
stations broadcast country music tvx;enty-four hours a
day. English stars sing it in British English, and people
in cther countries sing it in their languages. The music
that started with cowboys and poor Soutkerners is hpw
popular all over the world.

Questions 11 to 15 are based on the following passage:

Passage 3

Strange things happen to time when you travel, be-
cause - the earth is divided into twenty-four time zomes,
one hour apart. You can have days with more or fewer
than twenty-fours, and weeks with more or fewer than
seven days.

If you make a five-day trip across the Atlantic Ocean,

your ship enters a different time zone every day. -As you

enter each zone, the time changes one hour. Traveling
west, you set your clock back; traveling east, you set it
ahead. Each day of your trip has either twenty-five or
twenty-threc hours.

~ If you travel by ship across the Pacific, you cross the
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international date line. By agreement, this is the point
where a new-day begins. When you cross the line, you
change your calendar one full day, backward or for-
ward. Traveling east, today becomes yesterday; trave-

ling west, it is tomorrow.
Questions 16 to 20 are based on the following passage:

Passage 4

The computer is a wonderful machine. It is the
most Important invention since the type of engine used
in cars. Today it has the greatest effect on science, in-
dustry, and business, but it is being used more in educa-
tion and medicine. By the end of this century it will
touch the lives of everyone, even people in distant villages.

It is a revolutionary invention.

The oldest kind of computer is the abacus, used in-

‘China since the sixth céntury. In the seventeenth century
an adding machine was invented, but the first large, mod-
ern computer was built in 1937. A few vyears later a
computer could do 5,000 additions-per second. Now the
computations are so fast that they are measured in
nanoseconds, ‘
Today most computers are stored-program com-
puters; that is, they have a memory. They are getting
smailer and smaller, and computing faster and faster.
Even in a largc computer, the part that does the actual
computing 1s about the size of the end of a finger.
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Computers can do all kinds of work. When someone
buys something in a department store, information
about the sale goes into a computer. A scientist can
talk to the coinputer about the rocks, and the computer
answers the questions. A doctor can talk to the computer
and explain what is wrong with a patient. If the doctor
asks why, the computer goes through its stored information
and explains exactly why. )

When early humans began farming, it was a revolu-
tionary change in human life. It was hundreds of thousands
of years later that people developed a writing system. In
less than fifty years people have developed computers that
can do most of the things humans can do. This could
be a frightening development.

CLOZE 1 Cloze Test Passage

Directions: There are 20 blanks in the following pas-
sage. For each blank there are four choices marked A}, B),
C) and DY. You should choose the ONE answer that best
fits into the blank. Then mark the corresponding letter
on the Answer Sheet with a pencil.

I live m a small village called Henfield — there are
about 500 people here. I love it because it’s quiet and life
is (¥ and easy. You never haveto (2) in shops
or banks. The village is (3) — people look (4)

it and don’t (5) their rubbish in the strects. The
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{8) is clean too because there’s not much heavy )

It’'s (8) more friendly here than in a city. Everyone
knows everyone and ~ (9) someone has a problem there
are (10) people who can help.

There (11) many things I don’t like about Hen-
field. (12) ™ thing is that there isn’t (13) to do
in the evenings — we haven’t got any cinemas or theatres.
The (14) problem is that people in small (15)
always talk  (16) each otherand (17) knows (18)
everyone is doing. But I  (19) prefer village life

(20)  life in a big city. -

Band 1

SET TWO  Recading Comprehension Passages

Directions: There are 4 reading passages in this part.
Each passage is followed by some questions. For each ques-
tion there are four suggested answers marked A), B),
C) and D). You should choose the ONE best answer.
Then mark the corresponding letter on the Answer Sheet
with a pencil.

Questiohs I to 5 are based on the following passage:
~ Passage 1

The first true piece of sports eqlupment that man
invented was the ball.
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‘In ancient Egypt, as everywhere, pitching stones
was a favourite childen’s ‘game. Buta badly thrown rock
could hurt a child. Looking for something less dangerous
to throw, the Egyptians made what were probably the
first balls. .

At first; balls were made of gra}ssbr_ leaves held to-
gether by vines. Later they were made of pieces of
animal skin sewed together and stuffed with feathers
or hay. , o . ‘ : )

‘Even though the Egyptians were warlike, they found
time for peaceful games. Before long they had develbpe&
a number of ball games, each with its own set of rules.

Perhaps they played ball more for. instruction than for
" fun. Ball playing was thought of mainly as a way to teach
young men the speed and skill they would need for war.

Questions 6 to 10 are based on the follow'ing passage:
Passage 2

The year 2000 is less than twenty years.away, :;t_very
shert time in the history of the world. But in that short
time the world will reach a population of 6.2 hillidn,\all-
most 2 billion more people than there are today. Unfor-
tunately, the greatest growth will be in the cities of the
poorest nations. ' : S

The population figures seem almost unbelievable,
There will be 60 cities in tlie world with populations of more
than 5 million. Forty-five of them will be in the third
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world. There will be 22 cities with populations’of over 20
million and almost 300 cities with over one million people
each. Mexice City will have 31 million people; Tokyo,
24 million; and Cairo, 13 million,

Third world cities are already overcrowded. But
city workers earn two to ten times as much as people in the
country. So thousands of more people arrive every year.
The governments must provide electricity, water, schools,
health services, and land for houses. But poor countries do
‘not have the money to do this. As cities grow larger, the
problems increase. ’

Howecver, some social scientists believe the proble.'(/ns
are not hopeless. Pecople move to cities because they
want to change and improve their lives. When they can
find jobs, they workhard. They build nice houses when they
have the money and send their children to school. These
hardworking people help build a better society for the whole
country. ' ‘

Questions 11 to 15 are based on the following passage:
Passage 3

We cannot feel speed. But our sensés let us know that
we are moving. We see things moving pastusandfeel that
we are being shaken.

We can feel acceleration, and increase in speed. But

we notice it for only a short time. For instance, we feel -

it during the takeoff run of an airplane.
s 10
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We feel the plane’s acceleration because our bodies
do not gain speed as fast as the plane does. It seems that
something is pushing us back against that seat. Actually,’
our bodies are trying to stay in the same place, while the
planes is carrying us forward. A

Soon the plane reaches a steady speed.Then, because
there is no longer any change in speed, the feeling of

forward motion stops.

Questions 16 to 20 are based on the following passage:

Passage 4

Mirs Peters had learned to play the piano when she was
at school, but when she had begun to work, she had lived
in a very small flat, and there had been no room for a piano.
She was sad about this, but there was nothing she could do
about it, however much she tried.

Then, when she was twenty-three, she married, and she
and her husband went to live in a bigger flat. “I’m going
to buy myself a nice little piano now,” Mrs Peters said to

her husband, “and I'm going to begin to practise again,”

Her husband was happy, because he liked listening
to the piano.

So Mrs Peters saved some mey,%’nd”“hﬁ?’h’%d
helped her, and her parents ga® k¢S gehernas AmpAnt
of money for her birthday and: fob@=IBsAtb ity whateyer
she wanted with it, so she soen-Jagenough for-2 jnipil
piano. She went to a shop in her towiiand said, “JN] Thodse




